prawing  \/FEP101010A o

Model

ISO 13920-BG WELDINGS
WELDED CONSTRUCTIONS

DIN 6930-C STAMPED STEEL PARTS

FLAT SURFACES / BENDINGS

ISO 2768-C GENERAL TOLERANCES
LINEAR AND ANGULAR DIMENSIONS

2 3 4 5 6 7 8
ID Description Date By Appr.
a |
l I A 23.7.18 PLe
- i
( a § 3 )
100
160
155
100
7 nin 1 14
9Xope g X-X 00 0
-
|
5 = r 2
© ' © @3
[ !
] : I/' _____ }_____ \ : ]
|| . :) (B ]
(@) [ : : b
o g Y{ R b }YLO o
® g Lo e e e 0 SI83
o L ‘ o
1 3
& | o N | IR o cll—
| I N _
| I 1 I _ o
! )
—© | © | t
ey |
&i 27.5 i
—_—
X
80
Y-Y M6x15 5 |PPE19201 Mounting Plate V1010 1 0
[ weld stud 4 |PPE19101 Lid VFE1010 1 0
P 3 PLF33 DIN912 M6x20 A4 hex socket screw 4 0
o 2 PUA84 DIN125 M6 A4 Washer 4 0
N~
M5x14 1 PPE19001 Base VFEP101010 1 WO :
. - eight
|nterna| thread ] Part Code Description Pcs [g¥pcs
weld stud Surface Color: RAL7035S eert 1000
Material:  Mild steel Casemet Material:
CASEMET ®
M6x12 Casemet Oy Enclosure VFEP101010A Repace:
weld stud Drw No:
Scale Date 23.7.18 A
1:3 By PLe Ref Cubo V
A3 Checked
Sreeto: 1 (1) ot oo VFEP101010A

Copyright Casemet. Unauthorized use and distribution of this document is strictly prohibited.




	Sheet 1
	Views
	new_view_1
	bottom_2
	right_3
	top_4
	left_5
	left_7



